Name Date

Multiply Matrices by Scalars to Produce New Matrices - Guided Lesson
Explanation

Explanation#1

The original matrix must be multiplied in order to fill in the missing number.

4[i] = [186] the missing number is 4(4), which is 16.

Explanation#2

Multiply the original matrix to fill in the missing number.

5 [g] = [ig the missing number is 5(8), which is 40.

Explanation#3

Take the product of 6 and 8 to find the missing number and fill in the column
in the second matrix.

6 [g] = [ig] the missing number is 6(8), which is 48.
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